IECSRGB lightness
with Y,=18

log (L*)
log(L*) L*

IECsRGB lightness for all colours L*\y,=100:
L* iecsraa=s(Y/Y) 2 (550, Y,=18, 1/255%<100)

application
range

Y,=18

IECSRGB-

log(AY) AY tristimulus value difference

L* iecsraa=S(Y/Y) Y2 (550, Y,=18, 1/255%<100)
IECsSRGB-tristimulus value difference
log(dY)= log( 2,4 {/100) ) + (1~(1/2,4)) l0g{/Y,,)
= log(2,4¥ /21100 + (1-(1/2,4)) log()

' Y,718 dY,=0,90 dY,/Y,=0,0480 _ »

r 10g(dY)=0,88 m,=0,58 f
>

application
1 range

1
1Y, =18 '

IECSRGB-

log (AY/Y)
tristimulus value sensitivity

log(C;) C,=(AYlY)

L* iecsraa=S(Y/Y) Y2 (550, Y,=18, 1/255%<100)

IECsSRGB-tristimulus value sensitivity
log[(dY/Y = log(2,4%~*/100) - (1/2,4) logt)

application

a0 range

IECSRGB-
tristimulus value contrast

log (Y/AY)
log(S)) S=(Y/AY)
L* lecsrap=S(Y/Yy)** (=50, Y,=18, 1/255%<100)
IECSRGB-tristimulus value contrast
l0g(Y/dY)= log[(1/2,4) (100Y,)] + (1/2,4) log¥//Y,,)
= log[(1/2,4) 100, >4] + (1/2,4) logl)

1/2,4

! L*,=50,Y,=18 dY,=0,90 Y,/dY,=20, » *
.

1 log(V/dY)=13Q m=041 _ .=

1

.
application
range

log (LH1L* )

relative IECSRGB lightness
LyjLs , With Y,=18

relative normalized IECSRGB data

IECSRGB Ilghtness for all colours with, L*,,=50:

L* iecsrap=S(Y/Yy)2* (250, V=18, 1/255¥<100)

! L7750, ¥,=18

- application
- , range

Yy=4 0 1Y,=18000
1

relative IECSRGB-

log(AY/AY,)
tristimulus value difference

INUNE
L* \ecsreB=S(Y/Yy, (s=50,Y,=18, 1/255¥%<100)
relative IECsRGB-tristimulus value difference
log(dY)= log( 2,4 ¥/100) ) + (1~(1/2,4)) log(/Y,)
= log (2,41, 29/100) + (1-(1/2,4)) log()

12,4
)

! Y,=18 dY,=0,90 dY,/Y,=0,0480
-

>
>
Yy=4
1

100

log [(AY/Y) I AY /Y] relative IECSRGB-
C/Cry =(BYIV)I(BYIY,) tistimulus value sensitivity

L* iecsroa=S(Y/Y) /2 (550, Y, =18, 1/2554<100)

relative IECSRGB-tristimulus value sensitivity
logdY/M)I(AY/Yy)] = Iog(Y/Yu)’U

application
range

L
1 Togl@YYY(@Y,/¥,)]=0, m=—0.41 e .
Y,=18, dY,=0,90 dY,/Y,=0,0480 '

Yn=4 oy, =180
1

log [(Y/AY) I (Y,/AY,)] relative IECSRGB-
log(S,) S,/S,U=(Y/AY)/(Yu/AYu)[iSﬁmums value contrast

L* iecsrap=S(Y/Yy) "2 (5250, Y,=18, 1/255¥<100)

relative IECSRGB-tristimulus value contrast
10g[(Y/AY)(Y/AY,)] = log(Y/Y,)Y24
L* =50, Y,=18, dY,=0,90
L*,=50, Y,=18, dY,=0,90 Y,/dY =20
log[(Y/dY(Y,/dY,)]=0, m,=0,41 _ _

application
range

Y,=18




